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PART - 111
QUANTITATIVE APTITUDE

If the sum of five consecutive integers
is S, then the largest of those integers in
termsof Sis

$-10 S+4
A =5 B 7
S+10
©F o
The greatest among the numbers 32,
W7, 645, 2201
W N2 @ W

€) &5 (D) 220

The denominator of a fraction is 3 more
than its numerator. If the numerator is
increased by 7 and the denominator is
decreased by 2, we obtain 2. The sum
of numerator and denominator of the

E‘abtiun is
4) 5 . (B) 13
(C) 17 (D) 19

47 is added to the product of 71 and an
unknown number. The new number is
divisible by 7 giving the quotient 98.
The unknown number is a multiple of
(A) 2 (B) 5

(C) 7 (D) 3

The least number which when divided
by 16, 18, 20 and 25 leaves 4 as
remainder in cach case but when
divided by 7 leaves no remainder is

(A) 17004 (B) 18000

(C) - 18002 (D) 18004
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107.

108.

109.

110.

If the measure of each interior angle of
a regular polygon be 144° | the number

of sides of the polygon is
(A) 10 (B) 20
€ 24 (D) 36

The base of a right prism is an
equilateral triangle of arca 173 cm? and
the volume of the prism is 10380 cm’.
The area of the lateral surface of the

prism is (use \ﬁ =1.73)
(A) 1200cm®  (B) 2400 cmi?
(C) 3600cm?® (D) 4380 cm?

Il a right circular cone is separated into
solids of volumes V, , V, , V; by two

planes parallel to the base, which also
trisect the altitude, then ViV, Vs
(A) 1:2:3 (B) 1:4:6

(C) 1:6:9 (D) 1:7:19

The ratio of the volume of a cube and
of a solid sphere is 363 : 49. The ratio
of an edge of the cube and the radius of

the sphere is (taking n = %

(A) 7:11 (B) 22:7
C) 11:7 (D) 7:22

The ratio of the areas of a regular
hexagon and an equilateral triangle
having same perimeter is _
(A) 2:3 B) 6:1

(C) 3:2 (D) 1:6
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A hall is 15 m. long and 12 m, broad. If
the sum of the areas of the floor and the
ceiling is equal to the sum of the areas
of the four walls, the volume of the

hall, in cu. m. , is
(B) 900

(A) 720
(C) 1200 (D) 1800

A solid cylin&er has total surface arca
of 462 em?. Its curved surface area is

%"’ of the total surface area. Then the

radius of the cylinder is
(A) Tem (B) 35cm
(C) 9em (D) 11em

If A and B together can finish a piece
of work in 20 days, B and C in 10 days
and C and A in 12 days, then A, B, C
jointly can finish the same work in

2

(A) 4$ days (B) 30 days
7

(D) ﬁdays

A can do a work in 5 days less than the
time taken by-B to do it, If both of them

(€) 8% days

I
together take 113 days, then the time
taken by 'B' alone to do the same work

(in days) is
(A) 15 (B) 20
(C) 25 (D) 30

The price of a certain television scl is
discounted by 10% and the reduced
price is then discounted by 10%. This
serics of successive discounts is
equivalent to a single discount of

116.

17.

118.

119,
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Rahim bought a T.V. with 20% discount
on list price. Had he bought it with 25%
discount he would have saved ¥ 500. At
what price did he buy the T.V ?

(A) 716000  (B) ¥12,000
(C) T10000 (D) T8000
a b 2a+3b
li‘%ri,lhcn value of his
12 5
(A) 5 B) 7
; 12
() | D) 7

Acid and water are mixed in a vessel A in
the ratio of 5 : 2 and in the vessel B in the
rtio 8 @ 5. In what proportion should
quantities be taken out from the two vessels
50 23 1o form a mixture in which the acid
and water will be in the ratio el 47

(A) 7:2 (B) 2:17

(C) 7:4 (D) 2:3

The average of x numbers is y and
average of y numbers is x. Then the
average of all the numbers fakon
together is

w5 B
X
o o

A tabulator while calculating the
average marks of 100 students of an
examination, by mistake enters 68,
instead of 86 and obtained the average
as 58: the actual average marks of those
sludents i

(A) 20% (B) 19% (A) 58.18 B) 5782
©) 18% (D) 11% (©) 5881 (D) 5728
SPACE FOR ROUGH WORK
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A shopman bought pens at the rate of 7
for ¥ 10 and sold them at a profit of
40%, How many pens would a
customer get for T 10 ?

(A) 6 (B) 4

©) 5 D) 3

If the cost-price of 10 articles is equal
to the sale-price of 16 articles, then the

gain or loss percent is

' I
(A) 28% profit (B) 35 % profit
(C) 28%loss (D) 3?%% loss

Three persons A, B, C whose salarics
together amount to ¥ 72000 spend 80,
85 and 75 percent of their salaries
respectively. If their savings are in the
ratio 8 : 9 : 20, then A's salary is

(A) ¥20,000  (B) 16,000

(C) T22000 (D) ¥18,000

Two solutions of 90% and 97% purity

mixed, resulting in 21 litres of
mixture of 94% purity. The quantity of
the second solution in the resulting

. mixture, in litres, is

126.

127.

128,

129,

Il the difference between simple
interest and compound interest on a
eerlain sum of money for 3 years al
10% per annum 1s ¥ 31, the sum is

(A) 500 (B) T750
(C) T 1000 (D) 1250
l’éf' {
Ifx+77=3 find the value of 8 + =5 80
(A) 18 (B) 36
(C) 24 (D) 16
4 ab
Efr=ﬁ (a#b), the value of
xt2a x+2b
X-2a x-2b '8
(A) a B) b
(C) 2ab . (D) 2
fx=b+c-2ay=c4a b,

z=a+b - 2, then the value of x? + y?
-2+ 2y is
(A) 0

(C) a-b+c

(B) a+b+c
(D) ath

o 5 <8y 130, If (@ — 1P+ (b + 2 + (c 4 1)
then the value of 2a - 3b + 7c it

125, A boat travels 24 km upstream in 6 (A) 12 ®) 3

hours and 20 km downstream in 4

hours. Then the speed of boat in still =tk 0 1

water and the speed of water current (31 3

are respectively - (y=2) +(z-2 + (r-y) is equalto

(A) 4 kmph and 3 kmph (A) 3y-2)(z+3)(y-2)

(B) 4.5 kmph and 0.5 kmph (B) (x-y)(y+2z)(x-2)

(C) 4 kmph and 2 kmph €) 3y-z)(z-x)(x-y)

(D) 5 kmph and 2 kmph D) (y-2)(z-x (x-y)

SPACE FOR ROUGH WORK
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The side AB of a parallelogram ABCD
is produced to E in such way that BE =
AB. DE intersects BC at Q. The point

Q divides BC in the ratio
(A) 1:2 (B) 1:1
(C) 2:3 (D) 2:1

If a chord of a circle of radius 5 cm is a
tangent to a-circle of radius 3 cm, both
the circles being concentric, then the
length of the chord is

(A) 10cm (B) 125¢em
(C) 8cm (D) 7cm

O is the incentre of AABC and ZA =
30°, then ZBOC is
100° (B) 105°

) 110° D) 90°

135.%The length of two chords AB and AC

of a circle are 8 ¢cm and 6 cm and

ZBAC = 90°, then the radius of circle
is

137.

138,

139.

140.

The simplified value of (sec A - cos A)?
+ (cosec A —sin A)* - (cot A - tan A)*
Is

(A) 0
(C) 1

If 0 be an acute angle and 7 sin?0 +
3 cos™0 = 4, then the value of tan 0 is

(A) \B
(C) 1

The value of sin®1° + sin®5° + sin20° +

oo +5IN%89° is
I

(A) 113 (B) 112

11

D —
(D) N
The angles of elevation of the top of a
building from the top and bottom of a

tree are x and y respectively. If the

height of the tree 1s h m, then, in m, the
height of the building is

|
®)
(D) 2

(C) 1

h cot x hcot y

(A) 25 cm (B) 20cm (A) cotx +coly (B) cotx+coly
(C) 4em (B) Sem C h col x D h col y

. ©) colx-coty D) S r—entv

136. The point D and E are taken on the
sides AB and AC of AABC such that 141, The numerical value of
3 1
AD = % AB, AE = ; AC. If the length cot|8° [cm 72° cos” 22° + o 790 soct G8° 63")
of BC is 15 cm, then the length of DE IS
is : (A) 1 (B) 2
|
(A) 10cm (B) 8cm © 3 ) ==
(C) Gem (D) Sem \/3
SPACE FOR ROUGH WORK
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Read the graph and answer questions (142 to

146).

Income and Expenditure of a company over
the years (in lakhs of rupees)

E[nwmc

01 [[I] Expenditure
T = o =
L0 St = = i = W=
LN = = | S E
t+ H Bl E =
g 20 B g
0 —Ton 83 D84 1985 96
Years —>
142. What is the difference in profit between
1983 and 1984 (in lakhs of rupees) ?
(A) Noprofit  (B) 3
() 10 (D) 15
143, The number of years in which the
_income is more than the average income
of the given years is
(A) . One (B) Two
(C) Three (D) Four
144. The ratio of the average income of all the
to the average profit is
fA} 24:13 }g; 48:17
C) 12:7 6:5

145.

146.

Percentage increase in profit in 1986 over

19821s
EA 150% ) 120%
) 80%

100%
The total income exceeds the total
expenditure over the years 1982 tol 986 by
(A) 85 lakhs (B) 105 lakhs
(©) 115lakhs (D) 120lakhs

Study the following table showing
marks obtained by 6 candidates (A, B,
C, D, E, and F) in 6 tests conducted in
il

one academic  year inswer
questions 147 o 150

(.._%_'I'csl Test{ Test{Test{Test Test-Test{Total
e~ 1123141516
A | 60]|64]62]66] 63|68 |383
B | 70|62 6860|5868 |386
C | 66|68|70(72]70]| 74420
D [59]60)|62]63]065] 67|37
E |56 58|60 68|02 64368
F |62]66)068)58|59[065]|378

147

148.

149.

150.

. The total marks obtained by the
~ candidates B and F together was the
least in the test
(A) 2
(C) 4

(B) 3
(D) 5

Which of the candidmes has shown a
stcady improvement throughout the
academic year ?
(A) A
(€) C

(B) B
(D)

Which candidate has shown maxin:im
percentage improvemen' in Foel
compared to Test | 7

(A) A (B) E

(C) B (D) C

In which test have all candidates
performed better than in the previous
test ?

(A) Test-6
(C) Tesi-4

(B) Test-S
(D) Test2
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